Unit 2 Day lo Name: \<m

Complete each missing statement or justification. As you complete the proof, ;)\IIARK the picture' to show pairs of

corresponding congruent sides or angles.
(k;). Given: AB = EK, AP = EP,

2. Given: P is the midpoint of AE, A
BP = KP

P is the midpoint of BK
Prove: AABP = AEKP

Prove: AABP = AEKP

. Statements - | Justification = < .. Statements : Justification
AB = EK (z2\Ven - P1s the Midpont AE | Given
AP = EP Civen AP Z B ! Definition of Midpoint
P is the midpoint of BK =\ven Bp & ¥KP G\ven

BP = KP D¢ fimton of MidDoin{ LA/PB '\___'_ / EPK Vertical angles are =
AABP = AEKP S<S l INRYE /N‘/\i S A3

3. Given:£B and 4K are rigbz angles, " 4. Given: :2B and £K are right angles,

P is the midpoint of BK AP = EP 3

Prove: AABP = AEKP Prove: AABP = AEKP

“Statements= - [T Justification” T T
LB ahd LK Qvc vaT Given . -Statements’ .| " Justification
LABP =/ EKPJ All right angles are =. Z_ Band /X ave Y(GM'AS Given .
ot o T [oven /hep=/ ELP ) [0l Right /< &
BP >kp | Definition of Midpoint 71 LAPB = £EPK Virhdal Zs ave =
APR = / EPK Vertical angles are =. ( AABP = AEKP JaE s
APBr = NCVp [ AsA \rv = Ep Given
5. Given: : 2B and 2K are right angles, 6. Given: 2P and 2T are right angles, P
P is the midpoint of AE and BK £PSA = £TSA ‘
Prove: AABP = AEKP Prove: APSA = ATSA
B ' t k
- " ~ IS N - NN v E y Y - ot . ™ . X =
. . Statements - - 0| . Justification o ||| Statements = |, Justification
C Aand /K ave \Q\QM—/ S Given £P and £T are right angles Given
ZB =LK J (L RiahtZ< Qve. Congent | | [P = LT all Rlgwtss aye =
lS\‘\we,YY\\dm\m—o[.E% Bl | GivenJ LPSA = (TSA Givkn
AZEr onHdl BP = ¥y Definition of Midpoint SA=SA Roflexyve Pyopetu of &
AU = AEKP HL NPok = NGk b )
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7.Given: PS =TA,PA=TS

Prove: APSA = ATAS

P

8. Given: £PSA = +TAS; LTSA = LPAS
Prove: APSA = ATAS

— St_aié'rr’ibﬁi‘é‘:-ﬁf ““Justification _Statements .| _Justification |~ -
=Tk Glven iPSR"‘LT/K Glven
Ffr TS Oiven LTSA2 /PR Glven
Sk =Sk Reflexive Prop. of % Sk =Sk RefHexwve Pyop.of =
APoxr = NThs Kge | APSX = NTAS ASA
9.Given: ZPSA = £TAS,PS=TA 10. Given: 2P and T are right angles, PA = TA
Prove: APSA = ATAS

Prove: APAS = ATAS

Py

~Statements . _ Justification * . -
LPS}r L1XS Glven
ps = A 6i\\en' S its - Justification’
<k = Sx Koflexive, Dimp of = Vm\o\ /_\ arc et Ls Liven
N’ ENNIV x| P= Al RtZcpve =
PE= 1’/5 Elven
Sk € Sic et exvve Vo of %
APXS = NTaz M !
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